Math 2008
Fall 2010 – Test 2
NAME_______________________________________________________

Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test.
1. (7 pts). Use Russian peasant algorithm to find the product: 53 × 28.
2. (7 pts). Use lattice multiplication algorithm to find the product: 132 × 35.
3. (8 pts). Evaluate: 325 × 225.
NAME_______________________________________________________

Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test.
4. (7 pts). Evaluate: 1214 ( 324.

5. (7 pts). Evaluate: 2213 + 223.

6. (8 pts). Evaluate: 415 ( 35.
NAME_______________________________________________________

Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test.
7. (7 pts). Shade the portion of the Venn diagram that shows: 
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8. (7 pts each). Let A = {0, 1, 5, 10, 15, 20, 25, 30, 35, …}.

a. Is set A closed under multiplication? Explain.

b. Is set A closed under addition? Explain.

9. (7 pts). Write 32056 in expanded notation.

NAME_______________________________________________________

Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test.
10. (7 pts). Model 3 × 4 using sets. Explain.

11. (7 pts). Model 13 ( 4 using sets. Explain.

12. (7 pts). In the number 3628, what does the 6 represent? Explain.
13. (7 pts). Why is the numeral 0 important in the Hindu-Arabic numeral system? Explain.
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